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RIER D IR R R E

X3 —2 BEMICHERAT HLMESHDERIBIT HEE/2) _ _ | HAEEE  PkeEA
RERMONE | BRES 16981048 BT \ % T | FRTEHh KT = BEATEE T
" SRR O TR IS ET ST = ERI N
ﬁf&g TREOBBOESLADKRES TREDOHEBSSLADKRES TREOBBOEILADKRES rTREDHBESSLHODOKRES
; 100kN/m#%#BZ5| 1.00 | 000 ~ 086 11287 |3m&E#BZ5| 000 ~ 122|599 21.835 | 100kN/m%E#Z5 | 1.00 | 1959 ~ 2603| 112.87 |3mZEBZB| 1500 ~ 2603 | 3.99 21.55
Lt 1.00 | 0.86 ~ 865 100.00 | =Ny | 1.22 ~ 865|300 16.05 znLs 1.00 |1 6.00 ~ 19.59 100.00 | =hSY | 5.00 ~ 15.00 | 3.00 16.05
2 100kN/mM%Z#BZ5 | 1.00 | 0.00 ~ 326| 15224 |3mZEBZB| 000 ~ 039|323 17.27 | 100kN/m##BZ% | 1.00 | 1083 ~ 2852 15224 |3mZEBZB| 2500 ~ 2852| 3.23 17.27
Lt 1.00 | 326 ~ 1105 100.00 | =Ny | 0539 ~ 1105| 3.00 16.05 zh st 1.00 | 6.00 ~ 10.83 100.00 | =hLSY | 5.00 ~ 25.00 | 3.00 16.05
P 100kN/m#%#BZ5| 1.00 | 000 ~ 3.06| 14874 |3m&ERBZ3| 000 ~ 026\ 5.14 16.83 | 100kN/m##BZ% | 1.00 | 1062 ~ 2607 14874 |3mEEZD| 2500 ~ 2607 | 3.14 16.83
zh st 1.00 | 3.06 ~ 108 | 100.00| FhLS | 026 ~ 1085 53.00 16.05 znLs 1.00 | 6.00 ~ 1062 100.00 | FhLSY | 5.00 ~ 25.00 | 3.00 16.05
4 100kN/mM%Z#BZ5| 1.00 | 000 ~ 045| 106.72 |3mEBZB| — ~ — — — | 100kN/mi%# 825 | 1.00 | 1086 ~ 1211 106.72 |3mZi#BZ% -~ — — —
ZznLst 1.00 | 0.45 ~ 824 100.00 | =nllst | 000 ~ 824|232 12,42 znLs 1.00 |1 6.00 ~ 10.86 100.00 | =S | 5.00 ~ 1211|232 12,42
5 100kN/M%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#Z D -~ — — —
Lt 1.00 1 000 ~ 727 92.52 | #hst | 0oo ~ 727|197 10.63 znLs 1.00 | 6.00 ~ 10.28 92.52 | #hs | 65.00 ~ 1028|1.97 10.63
g 100kN/m%Z#BZ5| 1.00 | 000 ~ 062 109.27 |3mEBZB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 1053 ~ 1230 109.27 |3mE#BZ3 - =~ — — —
ZnLst 1.00 | 0.62 ~ 841 100.00 | =nllst | 000 ~ 841219 11.69 znLs 1.00 |1 6.00 ~ 1053 100.00 | =hS | 5.00 ~ 1230|219 11.69
. 100kN/M%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#BZ D -~ — — —
ZznLst 1.00 | 000 ~ 738 94.20 | =hs | 000 ~ 758|244 13.05 znLs 1.00 |1 6.00 ~ 10.59 94.20 | £hS | 5.00 ~ 1059|244 13.05
P 100kN/M%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#BZ 5 -~ — — —
ZnLst 1.00 1 000 ~ 289 37.43 | =hUS | 000 ~ 289|263 14.08 znLs 1.00 | 56.00 ~ 7.756 3743 | =N | 5.00 ~ 7.75 | 2.63 14.08
9 100kN/mM%Z#8B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#Z B -~ — — —
ZznLst 1.00 000 ~ 5679 7241 | #nS | 000 ~ 579 2.08 11.12 znLs 1.00 | 5.00 ~ 8.03 72.41 | FnUS | 5,00 ~ 803 | 2.08 11.12
10 100kN/MZ#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#BZ B -~ — — —
ZnLst 1.00 1 000 ~ 642 67.65 | TN | 000 ~ 542|208 11.14 znLs 1.00 | 56.00 ~ 7.35 67.65 | NS | 5.00 ~ 7.356 208 11.14
17 100kN/mM%#B25 | 1.00 | 0.00 ~ 0.74 111.08 |3mZBRB| — ~ — — — | 100kN/mi%E#Z25 | 1.00 | 1086 ~ 13.00| 111.08 |3m%E#Bz3 - =~ — — —
ZznLst 1.00 | 0.74 ~ 853 100.00 | =0t | 000 ~ 8563|232 12.42 znLs 1.00 |1 6.00 ~ 10.86 100.00 | =S | 5.00 ~ 1300 2.32 12,42
19 100kN/mM%#8 % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8Z% — - ~ — —|3mZE#BZ B -~ — — —
Lo 1.00 | 0.00 ~ 374 47.04 | =S | 0oo ~ 374|214 11.48 znLs 1.00 | 5.00 ~ 56.00 47.04 | =nLS | 5.00 ~ 500|214 11.48
13 100kN/m#E#BZ % — -~ — —|3mZEEZE| — ~ — — — | 100kN/m#%#BZ % — - ~ — — |3mEEZD -~ — — —
L 1.00 | 0.00 ~ 397 49.81 | #hS | 000 ~ 397|208 11.15 znLs 1.00 1 5.00 ~ 56.00 49.81 | =nS | 5.00 ~ 5.00 | 2.08 11.15
14 100kN/m#%#B25| 1.00 | 000 ~ 055 10809 |3m&EEZE| — ~ — — — | 100kN/m%ZE#BZB | 1.00 | 10565 ~ 1206 108.09 |3mZEBZD -~ — — —
L 1.00 | 0.65 ~ 833 100.00 | =nlst | 000 ~ 833|222 11.88 znLs 1.00 | 5.00 ~ 1055 100.00 | =nllst | 6.00 ~ 1206|222 11.88
15 100kN/M%Z#BZ25 | 1.00 | 0.00 ~ 0.89 113.37 |3mE#ZD| — ~ — — — | 100kN/m#% 25 | 1.00 | 1053 ~ 1318 113.37 |3mZi#BZA% -~ — — —
ZznLst 1.001 089 ~ 868 100.00 | =0t | 000 ~ 868219 11.71 znLs 1.00 | 5.00 ~ 1053 100.00 | EnLSY | 5.00 ~ 1318|219 11.71
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X3 —2 BEMICHERAT HLMESNDERIBIT HEEQ/2) _ _ | AEEE  PhkEA
RERMONE | BRES 16981048 BT \ % T | FRTEHh BT = EATEE T
" SRR MO TR ET ST = ERI N
*gi;lgg TREOBBOESLADKRES TREDOHEBSSLADKRES TREOBBOESILADKRES rTREDHEBESSLODOKRES
16 100kN/mM%Z#8B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#Z % — - ~ — —|3mZE#BZ B -~ — — —
Lt 1.00 | 0.00 ~ 6.50 81.88 | =nst | 0oo ~ 650 1.82 9.73 znLs 1.00 | 6.00 ~ 7.80 81.88 | #nkst | 500 ~ 7.80 ] 1.82 9.73
17 100kN/mMZ#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#BZ D -~ — — —
Lt 1.00 | 0.00 ~ 5.99 75.11 | =5t | 000 ~ 599 1.88 10.05 znLs 1.00 | 6.00 ~ 710 76.11 | =S | 5,00 ~ 710 | 1.88 10.05
18 100kN/mM%Z#B % % — -~ = —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZE#BZ D -~ — — —
Lt 1.00 | 0.00 ~ b5.66 70.66 | =N | 000 ~ 566 2.06 11.02 znLs 1.00 | 5.00 ~ 761 70.66 | TnRS | 5,00 ~ 761|206 11.02
19 100kN/M%Z#B % % — -~ = —|3mZEEBZB| — ~ — — — | 100kN/mM%#2Z% — - ~ — —|3mZE#BZ B -~ — — —
ZznLst 1.00 | 0.00 ~ 6.90 87.39 | #nst | 0oo ~ 690|202 10.81 znLs 1.00 |1 6.00 ~ 985 87.39 | #nst | 5.00 ~ 9.85 202 10.81
2 100kN/mM%#BZ2% | 1.00 | 0.00 ~ 191 129.536 |3mZxBAB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 1098 ~ 1985| 129.36 |3mE#BZS - =~ — — —
Lt 1.00 | 1.91 ~ 9.69 100.00 | =St | 000 ~ 969|223 11.93 znLs 1.00 | 5.00 ~ 1098 100.00 | =S | 5,00 ~ 1985|223 11.93
27 100kN/m%Z#BZ5| 1.00 | 0.00 ~ 232| 136.15 |3mZEBZB| 000 ~ 0.05|3.03 16.22 | 100kN/m##BZ2% | 1.00 | 11.73 ~ 21.73| 1536.15 |3mZEBZB| 2000 ~ 21.73| 3.03 16.22
ZnLst 1.00 | 232 ~ 1010 100.00 | LS | 005 ~ 1010] 8.00 16.05 znLs 1.00 |1 5.00 ~ 11.73 100.00 | FhS | 5.00 ~ 20.00 | 3.00 16.05
29 100kN/m%#B25| 1.00| 000 ~ 245| 13839 |3m&EBZZ| — ~ — — — | 100kN/MZE#BZB | 1.00 | 11.30 ~ 21.73| 13839 |3mZEEZ3 - =~ — — —
ZznLst 1.00 | 245 ~ 1024 100.00 | FhLs | 000 ~ 1024 297 15.87 znLs 1.00 |1 6.00 ~ 11.30 100.00 | =nRSY | 5,00 ~ 21.73| 2.97 15.87
23 100kN/m#%#BZ25| 1.00| 000 ~ 1.59| 124.25|3m&Bz3B| — ~ — — — | 100kN/mi%&#B25 | 1.00 | 11.48 ~ 1712 124.25 |3m%EREZB -~ — — —
ZnLst 1.00 | 1.59 ~ 9.37 100.00 | =nllst | 000 ~ 9.37] 2.63 14.06 znLs 1.00 |1 5.00 ~ 1148 100.00 | =S | 5.00 ~ 1712 2.63 14.06
Py 100kN/m%Z#BZ5| 1.00 | 000 ~ 118| 117.87 |3mEBZB| — ~ — — — | 100kN/mi%#Z5 | 1.00 | 10.79 ~ 1497 117.87 |3mE#Z3 -~ — — —
ZznLst 1.00 | 1.18 ~ 897 100.00 | =St | 000 ~ 897] 2.08 11.14 znLs 1.00 | 5.00 ~ 10.79 100.00 | =nRSY | 5.00 ~ 1497 | 2.08 11.14
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh s ~ ZhLs ~
100kN/M%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ Zh Lot ~ Zh s ~ ZhLs ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zh LS ~ ThLlst ~ Zh LS ~ Zhst ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82Z % ~ ImEFEZD ~
Zh LS ~ Th st ~ Zh LS ~ Zhst ~
100kN/m#E#BZ % ~ ImEFEZRD ~ 100kN/m%#82Z% ~ ImEFEZD ~
Zh LS ~ Th st ~ Zh LS ~ Zhst ~
100kN/m#E#BZ % ~ ImEFERD ~ 100kN/m%#82 % ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLsh ~
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